Ecuaciones

1 Resuelve aplicando la férmula:

a) x2—3x+2=0

c) x2—2x—8=0

e) x2+7x+12=0

g 3x?+7x+4=0

) 5x2—11x+2=0

k) x2-2x+1=0

m)xZ—6x+10=0
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9. Refuerza: aplicacion de la formula
de las ecuaciones de segundo grado

Soluciones

—b+\Nb? - 4ac
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b) x2-5x+6=0

d) x2+2x-3=0

f) 6x2-5x+1=0

h) 6x2-12x=0

) 3x2-75=0

) x2-11x+10=0

n) 5x2+2x-3=0
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